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5.	
  

	
  
	
  
6.	
  

	
  
	
  

e

40°
81°

82°

120°

d

c

160°

b
40°20°

e.d.

c.b.a.

Find the measure of each arc angle or arc that is labeled with a letter:

a

33°

z

y

x136°
52°

d.

b.

c.

a.

z

w

Find the measure of each angle or arc that is labeled with a letter:
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7.	
  

	
  
	
  
	
  
8.	
  

	
  
	
  
	
  
	
  
9.	
  

	
  
	
  

108°

Find m∠AXB and m∠Y

62°
X

Y

A

B

D

C

170°

Find m∠R

135°

Q
E

TR

P

30°

Find mCD

50°

E
FA

B

C

D
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10.	
  

	
  
	
  
	
  
	
  
11.	
  

	
  
	
  

	
  
12.	
  

	
  

17°

Find mSR

42°

P R

S

Q

T

22°

Find mXZ

125°

X

Z

Y

W

175°

95°

Find m∠P

85°

P
S

T

Q

R
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13.	
  

	
  
	
  
14.	
  

	
  
	
  
15.	
  

	
  

25°

Find m∠AED

85°

E

A

B

C
D

Given E and the measures shown, find mWZ

120°

50° P

W

E

Y

X

Z

A circle is divided into three arcs in the ratio of 3:4:5.  A tangent-chord angle intercepts the
largest of the three arcs.  Find the measure of the tangent-chord angle.
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16.	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
22.	
  

	
  
	
  
23.	
  

	
  

An inscribed angle intercepts an arc that is 
1
9

 of the circle.  Find the measure of the inscribed angle.

84°

Given circles concentric at O, AB tangent to the inner circle, and BC = 84°, find the measures
of ∠A, DE, and DF.

E

F

D

C

O

AB

.  Find mAD.m∠AEB = 82°

92° E

C

A D

B
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24.	
  

	
  
	
  
	
  
	
  
	
  
	
  
25.	
  

	
  
26.	
  

	
  

15°
89°

Find mAE and mBD

F C

A

E

B

D

Find mAB

87°
112°

Y

S
X

A

B

D

C

Find mAB

5x + 6( )°

2x( )°

94°
E

A

C

B

D
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27.	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
28.	
  

 

A secant-secant ∠ intercepts arcs that are 
3
5

 and 
3
8

 of the circle.  If a chord-chord ∠ and its vertical

angle intercept the same arcs, what is the measure of the chord-chord angle?

ABC is inscribed in a circle all sides are chords( ), AB = 12, AC = 6, and BC = 6 3.  Find mBC.


